
JA
N
U
A
R
Y
  2
0
22



2022 January

TEKNOROT REF: AF-418 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint
Assembly

Weight: 2,692

GIULIA

MODEL NO BODY YEAR DIRECTION OEM NO

952 2015-
Front Right

Lower Forward
50547028, 68329916AA

Length: 402,5 Bolt Metric: M14X1,5

TEKNOROT REF: AF-418 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint
Assembly

Weight: 2,692

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

949 2016-
Front Right

Lower Forward
50547028, 68329916AA

Length: 402,5 Bolt Metric: M14X1,5

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: AF-419 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint
Assembly

Weight: 2,692

GIULIA

MODEL NO BODY YEAR DIRECTION OEM NO

952 2015-
Front Left

Lower Forward
50547029, 68330070AA

Length: 402,5 Bolt Metric: M14X1,5

TEKNOROT REF: AF-419 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint
Assembly

Weight: 2,692

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

949 2016-
Front Left

Lower Forward
50547029, 68330070AA

Length: 402,5 Bolt Metric: M14X1,5

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1138 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

X3

MODEL NO BODY YEAR DIRECTION OEM NO

G01, F97 2018-
Front Right

Upper Forward
31106890906

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

TEKNOROT REF: B-1138 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02, F98 2017-
Front Right

Upper Forward
31106890906

COMPONENTS NUMBER NAME DIRECTION OEM NO

AWD

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1138 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

İX3

MODEL NO BODY YEAR DIRECTION OEM NO

G08 2020-
Front Right

Upper Forward
31106890906

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

TEKNOROT REF: B-1139 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01, F97 2018-
Front Left

Upper Forward
31106890905

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1139 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

X4

MODEL NO BODY YEAR DIRECTION OEM NO

G02, F98 2017-
Front Left

Upper Forward
31106890905

COMPONENTS NUMBER NAME DIRECTION OEM NO

AWD

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

TEKNOROT REF: B-1139 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,214

İX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020-
Front Left

Upper Forward
31106890905

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 373,5 Bolt Metric: M16X1,5

BM-BS184
Control Arm

Bushing
Front Lower

Forward
31106894663*, 31106894664*

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1158 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

5-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G30, G31 2017-
Rear Right

Lower
Rearward

33326861126

Length: 449

TEKNOROT REF: B-1158 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

6-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G32 2017-
Rear Right

Lower
Rearward

33326861126

Length: 449

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1158 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

7-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G11, G12 2017-
Rear Right

Lower
Rearward

33326861126

Length: 449

TEKNOROT REF: B-1158 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

8-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G14,G15,G16 2018-
Rear Right

Lower
Rearward

33326861126

Length: 449

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1159 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

5-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G30, G31 2017-
Rear Left

Lower
Rearward

33326861125

Length: 449

TEKNOROT REF: B-1159 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

6-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G32 2017-
Rear Left

Lower
Rearward

33326861125

Length: 449

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1159 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

7-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G11, G12 2017-
Rear Left

Lower
Rearward

33326861125

Length: 449

TEKNOROT REF: B-1159 ADAPTABLE BMW
Lateral Arm

Weight: 0,942

8-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G14,G15,G16 2018-
Rear Left

Lower
Rearward

33326861125

Length: 449

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1168 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

5-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G30, G31 2017-
Rear Right

Upper Forward
33326867538

Length: 267

TEKNOROT REF: B-1168 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

6-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G32 2017-
Rear Right

Upper Forward
33326867538

Length: 267

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1168 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

7-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G11, G12 2017-
Rear Right

Upper Forward
33326867538

Length: 267

TEKNOROT REF: B-1168 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

8-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G14,G15,G16 2018-
Rear Right

Upper Forward
33326867538

Length: 267

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1169 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

5-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G30, G31 2017-
Rear Left

Upper Forward
33326867537

Length: 267

TEKNOROT REF: B-1169 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

6-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G32 2017-
Rear Left

Upper Forward
33326867537

Length: 267

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1169 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

7-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G11, G12 2017-
Rear Left

Upper Forward
33326867537

Length: 267

TEKNOROT REF: B-1169 ADAPTABLE BMW
Lateral Arm

Weight: 0,901

8-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G14,G15,G16 2018-
Rear Left

Upper Forward
33326867537

Length: 267

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1248 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 1,496

X5

MODEL NO BODY YEAR DIRECTION OEM NO

G05 2019-
Front Right

Upper
31106883116

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 273

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

TEKNOROT REF: B-1249 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 1,496

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05 2019-
Front Left

Upper
31106883115

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 273

SB 1287
Control Arm

Bushing
Front Upper 31106861185*

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: B-1338 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 1,335

3-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G20 2018-
Front Right

Lower
Rearward

31106898072, 31106878594

Length: 279 Bolt Metric: M14X1,5

TEKNOROT REF: B-1339 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 1,335

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G20 2018-
Front Left

Lower
Rearward

31106898071, 31106878593

Length: 279 Bolt Metric: M14X1,5

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1058 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

SILVERADO 1500

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2014-2019
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1058 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

SUBURBAN

MODEL NO BODY YEAR DIRECTION OEM NO

11th Gen 2015-2021
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1058 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

TAHOE

MODEL NO BODY YEAR DIRECTION OEM NO

GMTK2UC/G 2015-2021
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1058 ADAPTABLE CADILLAC
Control Arm and Ball Joint
Assembly

Weight: 7,18

ESCALADE

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen,
GMTK2XL

2015-2021
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1058 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 7,18

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

2014-
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1058 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 7,18

YUKON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2015-2020
Front Right

Lower
84114506

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1059 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

SILVERADO 1500

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2014-2019
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1059 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

SUBURBAN

MODEL NO BODY YEAR DIRECTION OEM NO

11th Gen 2015-2021
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1059 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 7,18

TAHOE

MODEL NO BODY YEAR DIRECTION OEM NO

GMTK2UC/G 2015-2021
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1059 ADAPTABLE CADILLAC
Control Arm and Ball Joint
Assembly

Weight: 7,18

ESCALADE

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen,
GMTK2XL

2015-2021
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1059 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 7,18

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

2014-
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

TEKNOROT REF: CH-1059 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 7,18

YUKON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2015-2020
Front Left

Lower
84114505

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 443 Bolt Metric: M16X2

CH-1034 Ball Joint Front Lower 84114506*, 84114505*

SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1084 ADAPTABLE CHEVROLET
Ball Joint

Weight: 0,85

COLORADO

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2003-2012 Front Upper
K80764, 89040242, 15104112,

15104111

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 103,3 Bolt Metric: M14X2

CH-1138
Control Arm

and Ball Joint
Assembly

Front Right
Upper

RK620886, 15104112

CH-1139
Control Arm

and Ball Joint
Assembly

Front Left
Upper

RK620887, 15104111

TEKNOROT REF: CH-1084 ADAPTABLE GMC
Ball Joint

Weight: 0,85

CANYON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2012 Front Upper
K80764, 89040242, 15104112,

15104111

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 103,3 Bolt Metric: M14X2

CH-1138
Control Arm

and Ball Joint
Assembly

Front Right
Upper

RK620886, 15104112

CH-1139
Control Arm

and Ball Joint
Assembly

Front Left
Upper

RK620887, 15104111

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

AVALANCHE

MODEL NO BODY YEAR DIRECTION OEM NO

2500, GMT800 2001-2006
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2006
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

YEAR ONLY
2002-2006

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 2500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen,
GMT800

1999-2010
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2001-2010
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SUBURBAN

MODEL NO BODY YEAR DIRECTION OEM NO

9th Gen 2000-2006
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1098 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen,
GMT900

2007-2014
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2007
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

YEAR ONLY
2002-2006

TEKNOROT REF: CH-1098 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2010
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 3500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2001-2011
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1098 ADAPTABLE HUMMER
Control Arm and Ball Joint
Assembly

Weight: 15,375

H2

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2009
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1098 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

YUKON

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2000-2006
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1098 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2007-2014
Front Right

Lower
12474418, 12475476, 12475522

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

AVALANCHE

MODEL NO BODY YEAR DIRECTION OEM NO

2500, GMT800 2001-2006
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2006
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

YEAR ONLY
2002-2006

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 2500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen,
GMT800

1999-2010
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SILVERADO 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2001-2010
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SUBURBAN

MODEL NO BODY YEAR DIRECTION OEM NO

9th Gen 2000-2006
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1099 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 15,375

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen,
GMT900

2007-2014
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2007
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

YEAR ONLY
2002-2006

TEKNOROT REF: CH-1099 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2010
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

SIERRA 3500

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2001-2011
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1099 ADAPTABLE HUMMER
Control Arm and Ball Joint
Assembly

Weight: 15,375

H2

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2009
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1099 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

YUKON

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2000-2006
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

TEKNOROT REF: CH-1099 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 15,375

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2007-2014
Front Left

Lower
12474417, 12475475, 12475521

COMPONENTS NUMBER NAME DIRECTION OEM NO

HD Series

Length: 398,5 Bolt Metric: M16X2

CH-1045 12475522 12474417
12475476, Ball Joint, Front Lower,

12474418

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1138 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 2,992

COLORADO

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2003-2012
Front Right

Upper
RK620886, 15104112

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 222 Bolt Metric: M14X2

CH-1084 Ball Joint Front Upper
K80764, 89040242, 15104112,

15104111

TEKNOROT REF: CH-1138 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 2,992

CANYON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2012
Front Right

Upper
RK620886, 15104112

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 222 Bolt Metric: M14X2

CH-1084 Ball Joint Front Upper
K80764, 89040242, 15104112,

15104111

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1139 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 2,992

COLORADO

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2003-2012
Front Left

Upper
RK620887, 15104111

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 222 Bolt Metric: M14X2

CH-1084 Ball Joint Front Upper
K80764, 89040242, 15104112,

15104111

TEKNOROT REF: CH-1139 ADAPTABLE GMC
Control Arm and Ball Joint
Assembly

Weight: 2,992

CANYON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2012
Front Left

Upper
RK620887, 15104111

COMPONENTS NUMBER NAME DIRECTION OEM NO

Moog Type / Front Coil
springs

Length: 222 Bolt Metric: M14X2

CH-1084 Ball Joint Front Upper
K80764, 89040242, 15104112,

15104111

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CH-1208 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,202

CAMARO

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2010-2015 Rear 92246140

COMPONENTS NUMBER NAME DIRECTION OEM NO

3.6L / 6.2L

Length: 345

CH-BS107
Lateral Arm

Bushing
Rear 92246140*

TEKNOROT REF: CH-BS107 ADAPTABLE CHEVROLET
Lateral Arm Bushing

Weight: 0,202

CAMARO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2010-2015 Rear 92246140*

COMPONENTS NUMBER NAME DIRECTION OEM NO

3.6L / 6.2L

Length: 50

CH-1208 Lateral Arm Rear 92246140

www.teknorot.com 37

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CR-483 ADAPTABLE CHRYSLER
Steering Tie Rod

Weight: 0,576

300

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2011- Front 68264312AA

AWD

Length: 217 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

YEAR ONLY
2015-2020

TEKNOROT REF: CR-483 ADAPTABLE DODGE
Steering Tie Rod

Weight: 0,576

CHALLENGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2008- Front 68264312AA

AWD

Length: 217 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

YEAR ONLY
2017-2021

www.teknorot.com 38

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CR-483 ADAPTABLE DODGE
Steering Tie Rod

Weight: 0,576

CHARGER

MODEL NO BODY YEAR DIRECTION OEM NO

7th Gen 2011- Front 68264312AA

AWD

Length: 217 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

YEAR ONLY
2015-2020

TEKNOROT REF: CR-498 ADAPTABLE CHRYSLER
Lateral Arm

Weight: 2.201

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015-2017 Rear 68175510AD

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 354

JP-BS040
Lateral Arm

Bushing
Rear 68155227AE*, 68155228AE*

www.teknorot.com 39

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: CR-499 ADAPTABLE CHRYSLER
Lateral Arm

Weight: 2.201

200

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2015-2017 Rear 68175511AD

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 354

JP-BS040
Lateral Arm

Bushing
Rear 68155227AE*, 68155228AE*

TEKNOROT REF: F-1041 ADAPTABLE FIAT
Steering Tie Rod End

Weight: 0,415

500X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

334 2015- Front Right 77368517, 68440380AA

19" Wheels / M16

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

www.teknorot.com 40

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: F-1041 ADAPTABLE JEEP
Steering Tie Rod End

Weight: 0,415

RENEGADE

MODEL NO BODY YEAR DIRECTION OEM NO

BU 2014- Front Right 77368517, 68440380AA

19" Wheels / M16

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

TEKNOROT REF: F-1042 ADAPTABLE FIAT
Steering Tie Rod End

Weight: 0,415

500X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

334 2015- Front Left 77368518, 68440381AA

19" Wheels / M16

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

www.teknorot.com 41

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: F-1042 ADAPTABLE JEEP
Steering Tie Rod End

Weight: 0,415

RENEGADE

MODEL NO BODY YEAR DIRECTION OEM NO

BU 2014- Front Left 77368518, 68440381AA

19" Wheels / M16

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

TEKNOROT REF: FD-BS256 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,28

FOCUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2019-
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 60

FO-1398
Control Arm

with Ball Joint
Front Right

Lower
2216265, JX613A423CEB

FO-1399
Control Arm

with Ball Joint
Front Left

Lower
2216267, JX613A424CEB

www.teknorot.com 42

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FD-BS273 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,217

PUMA

MODEL NO BODY YEAR DIRECTION OEM NO

2020-
Front Lower

Inner
2422614, 2422615, LT1C3042AB,

L1TC3051AB

Length: 53,4

TEKNOROT REF: FD-BS274 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,222

PUMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020-
Front Lower

Outer
2422614, 2422615, LT1C3042AB,

L1TC3051AB

Length: 52

www.teknorot.com 43

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FD-BS281 ADAPTABLE FORD
Control Arm Bushing

Weight: 0,512

FOCUS

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2019-
Front Lower

Outer

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 65

FO-1398S Control Arm
Front Right

Lower
2216265, JX613A423CEB

FO-1399S Control Arm
Front Left

Lower
2216267, JX613A424CEB

TEKNOROT REF: FO-1195 ADAPTABLE FORD
Ball Joint

Weight: 0,582

E-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 1992-2007 Front Lower
K80195, 5C2Z3050AA,

5C2Z3050B

Moog Type

Length: 96,9 Bolt Metric: 5/8"18G 2A RH

YEAR ONLY
2005-2006

www.teknorot.com 44

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FO-1292 ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,635

TRANSIT CUSTOM

MODEL NO BODY YEAR DIRECTION OEM NO

2012- Front 2227099, KK213289AA

From 05/19

Length: 109 Bolt Metric: M14X2

YEAR ONLY
2019-

TEKNOROT REF: FO-1498 ADAPTABLE FORD
Lateral Arm

Weight: 1,203

FLEX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Rear Lower AA8Z5500A

From 09/09

Length: 324

www.teknorot.com 45

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FO-1498 ADAPTABLE FORD
Lateral Arm

Weight: 1,203

TAURUS

MODEL NO BODY YEAR DIRECTION OEM NO

6th Gen 2010-2019 Rear Lower AA8Z5500A

Length: 324

TEKNOROT REF: FO-1498 ADAPTABLE LINCOLN
Lateral Arm

Weight: 1,203

MKT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Rear Lower AA8Z5500A

Length: 324

www.teknorot.com 46

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FO-1558 ADAPTABLE FORD
Control Arm and Ball Joint
Assembly

Weight: 2,998

PUMA

MODEL NO BODY YEAR DIRECTION OEM NO

2020- Front Right 2422614, LT1C3042AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 370

FO-1204 Ball Joint Front
2422614*, LT1C3042AB*,
2422615*, L1TC3051AB*

FD-BS273
Control Arm

Bushing
Front Lower

Outer
2422614, 2422615, LT1C3042AB,

L1TC3051AB

FD-BS274
Control Arm

Bushing
Front Lower

Inner
2422614, 2422615, LT1C3042AB,

L1TC3051AB

TEKNOROT REF: FO-1559 ADAPTABLE FORD
Control Arm and Ball Joint
Assembly

Weight: 2,998

PUMA

MODEL NO BODY YEAR DIRECTION OEM NO

2020- Front Left 2422615, L1TC3051AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 370

FO-1204 Ball Joint Front
2422614*, LT1C3042AB*,
2422615*, L1TC3051AB*

FD-BS273
Control Arm

Bushing
Front Lower

Outer
2422614, 2422615, LT1C3042AB,

L1TC3051AB

FD-BS274
Control Arm

Bushing
Front Lower

Inner
2422614, 2422615, LT1C3042AB,

L1TC3051AB

www.teknorot.com 47

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: FO-1578 ADAPTABLE FORD
Lateral Arm

Weight: 1,202

KUGA

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Rear Upper 2451575, LX615500AEA

Length: 372

TEKNOROT REF: H-1138 ADAPTABLE HONDA
Lateral Arm

Weight: 1,767

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VIII 2006-2012
Rear Right

Upper
52390SNA900

Length: 317

www.teknorot.com 48

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: H-1139 ADAPTABLE HONDA
Lateral Arm

Weight: 1,767

CIVIC

MODEL NO BODY YEAR DIRECTION OEM NO

VIII 2006-2012
Rear Left

Upper
52400SNA900

Length: 317

TEKNOROT REF: IN-136A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M35h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2011-2019 Rear Right 546181MA0A

Steel Type / Hybrid
Version

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2012-2013

www.teknorot.com 49

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-136A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M37

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2010-2019 Rear Right 546181MA0A

Steel Type

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2011-2013

TEKNOROT REF: IN-136A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M56

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2019 Rear Right 546181MA0A

Steel Type

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2011-2013

www.teknorot.com 50

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-137A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M35h

MODEL NO BODY YEAR DIRECTION OEM NO

2011-2019 Rear Left 546681MA0A

Steel Type / Hybrid
Version

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2012-2013

TEKNOROT REF: IN-137A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2010-2019 Rear Left 546681MA0A

Steel Type

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2011-2013

www.teknorot.com 51

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-137A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,357

M56

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2011-2019 Rear Left 546681MA0A

Steel Type

Length: 195 Bolt Metric: M10X1,25

YEAR ONLY
2011-2013

TEKNOROT REF: IN-146A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2014-2017 Rear Right
546181CA3B, 546181CA2B,

546181CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

www.teknorot.com 52

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-146A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX50

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013 Rear Right
546181CA3B, 546181CA2B,

546181CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

TEKNOROT REF: IN-146A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2008-2013 Rear Right
546181CA3B, 546181CA2B,

546181CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

www.teknorot.com 53

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-146A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX35

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013 Rear Right
546181CA3B, 546181CA2B,

546181CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

TEKNOROT REF: IN-147A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2014-2017 Rear Left
546681CA4B, 546681CA3B,

546681CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

www.teknorot.com 54

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-147A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX50

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013 Rear Left
546681CA4B, 546681CA3B,

546681CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

TEKNOROT REF: IN-147A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2008-2013 Rear Left
546681CA4B, 546681CA3B,

546681CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

www.teknorot.com 55

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-147A ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 0,393

FX35

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013 Rear Left
546681CA4B, 546681CA3B,

546681CA0A

Steel Type / AWD

Length: 130 Bolt Metric: M12X1,25

TEKNOROT REF: IN-168 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2014-2017
Front Right

Upper
545241CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

www.teknorot.com 56

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-168 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX35

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013
Front Right

Upper
545241CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

TEKNOROT REF: IN-168 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2008-2013
Front Right

Upper
545241CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

www.teknorot.com 57

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-168 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX50

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013
Front Right

Upper
545241CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

TEKNOROT REF: IN-169 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2014-2017
Front Left

Upper
545251CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

www.teknorot.com 58

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-169 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX35

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013
Front Left

Upper
545251CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

TEKNOROT REF: IN-169 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2008-2013
Front Left

Upper
545251CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

www.teknorot.com 59

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: IN-169 ADAPTABLE INFINITI
Control Arm and Ball Joint
Assembly

Weight: 1,12

FX50

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2008-2013
Front Left

Upper
545251CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 246

NI-BS114
Control Arm

Bushing
Front Upper 545241CA0A*, 545251CA0A*

TEKNOROT REF: JA-1088 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CCX 1999-2008
Front Right

Upper
C2Z29115

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: From M45255

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

www.teknorot.com 60

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: JA-1088 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

XF

MODEL NO BODY YEAR DIRECTION OEM NO

X250 2008-2015
Front Right

Upper
C2Z29115

COMPONENTS NUMBER NAME DIRECTION OEM NO

3.0L RWD

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

TEKNOROT REF: JA-1088 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015
Front Right

Upper
C2Z29115

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0L / 5.0L

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

YEAR ONLY
2013-2015

www.teknorot.com 61

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: JA-1089 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

S-TYPE

MODEL NO BODY YEAR DIRECTION OEM NO

CCX 1999-2008
Front Left

Upper
C2Z29117

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: From M45255

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

TEKNOROT REF: JA-1089 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015
Front Left

Upper
C2Z29117

COMPONENTS NUMBER NAME DIRECTION OEM NO

3.0L RWD

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

www.teknorot.com 62

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: JA-1089 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 0,896

XF

MODEL NO BODY YEAR DIRECTION OEM NO

X250 2008-2015
Front Left

Upper
C2Z29117

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0L / 5.0L

Length: 202 Bolt Metric: M12X1,75

JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

YEAR ONLY
2013-2015

TEKNOROT REF: JE-357 ADAPTABLE JEEP
Stabilizer Bar Link

Weight: 0,357

CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL 2014- Front 68232186AC

FWD

Length: 280 Bolt Metric: M10X1,25

YEAR ONLY
2019-

www.teknorot.com 63

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: JE-458 ADAPTABLE JEEP
Lateral Arm

Weight: 3,136

LIBERTY

MODEL NO BODY YEAR DIRECTION OEM NO

KJ 2001-2008 Rear Lower 52088682AB

Length: 440

TEKNOROT REF: JE-459 ADAPTABLE JEEP
Lateral Arm

Weight: 2,383

LIBERTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KK 2008-2014 Rear Lower 52125322AE, 52125322AD

Length: 441

www.teknorot.com 64

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: JE-459 ADAPTABLE DODGE
Lateral Arm

Weight: 2,383

NITRO

MODEL NO BODY YEAR DIRECTION OEM NO

2007-2012 Rear Lower 52125322AE, 52125322AD

Length: 441

YEAR ONLY
2007-2009

TEKNOROT REF: KI-631 ADAPTABLE KIA
Steering Tie Rod End

Weight: 0,73

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen, JF 2016- Front Right 56825E6090

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 65

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: KI-631 ADAPTABLE HYUNDAI
Steering Tie Rod End

Weight: 0,73

SONATA

MODEL NO BODY YEAR DIRECTION OEM NO

7th Gen, LF 2015- Front Right 56825E6090

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

YEAR ONLY
2015-2017

TEKNOROT REF: KI-632 ADAPTABLE KIA
Steering Tie Rod End

Weight: 0,73

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen, JF 2016- Front Left 56820E6000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 66

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: KI-632 ADAPTABLE HYUNDAI
Steering Tie Rod End

Weight: 0,73

SONATA

MODEL NO BODY YEAR DIRECTION OEM NO

7th Gen, LF 2015- Front Left 56820E6000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

YEAR ONLY
2015-2017

TEKNOROT REF: KI-718 ADAPTABLE KIA
Control Arm and Ball Joint
Assembly

Weight: 4,255

CARENS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2013- Front Right 54501A4000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 380

KI-605 Ball Joint Front 54501A4000*, 54500A4000*

www.teknorot.com 67

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: KI-718S ADAPTABLE KIA
Control Arm

Weight: 3,567

CARENS

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2013- Front Right 54501A4000*

Length: 380

TEKNOROT REF: KI-719 ADAPTABLE KIA
Control Arm and Ball Joint
Assembly

Weight: 4,255

CARENS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2013- Front Left 54500A4000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 380

KI-605 Ball Joint Front 54501A4000*, 54500A4000*

www.teknorot.com 68

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: KI-719S ADAPTABLE KIA
Control Arm

Weight: 3,567

CARENS

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2013- Front Left 54500A4000*

Length: 380

TEKNOROT REF: LA-308 ADAPTABLE LAND ROVER
Control Arm and Ball Joint
Assembly

Weight: 7,212

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550 2015-
Front Right

Lower
LR117140, LR110277

COMPONENTS NUMBER NAME DIRECTION OEM NO

From Ch.769037

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

YEAR ONLY
2018-

www.teknorot.com 69

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: LA-308 ADAPTABLE LAND ROVER
Control Arm and Ball Joint
Assembly

Weight: 7,212

RANGE ROVER
EVOQUE

MODEL NO BODY YEAR DIRECTION OEM NO

L538 2011-2018
Front Right

Lower
LR117140, LR110277

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

TEKNOROT REF: LA-308 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 7,212

E-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X540 2017-
Front Right

Lower
LR117140, LR110277

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

www.teknorot.com 70

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: LA-309 ADAPTABLE LAND ROVER
Control Arm and Ball Joint
Assembly

Weight: 7,212

DISCOVERY SPORT

MODEL NO BODY YEAR DIRECTION OEM NO

L550 2015-
Front Left

Lower
LR117141, LR110276

COMPONENTS NUMBER NAME DIRECTION OEM NO

From Ch.769037

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

TEKNOROT REF: LA-309 ADAPTABLE LAND ROVER
Control Arm and Ball Joint
Assembly

Weight: 7,212

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L538 2011-2018
Front Left

Lower
LR117141, LR110276

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

www.teknorot.com 71

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: LA-309 ADAPTABLE JAGUAR
Control Arm and Ball Joint
Assembly

Weight: 7,212

E-PACE

MODEL NO BODY YEAR DIRECTION OEM NO

X540 2017-
Front Left

Lower
LR117141, LR110276

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 366,5

LA-254
Suspension

Ball Joint
Front

LR117140*, LR110277*,
LR117141*, LR110276*

TEKNOROT REF: LX-341 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,757

LS430

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF30 2001-2006 Front Right 4546059045

Length: 245 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.teknorot.com 72

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: LX-342 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,757

LS430

MODEL NO BODY YEAR DIRECTION OEM NO

XF30 2001-2006 Front Left 4547059045

Length: 245 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

TEKNOROT REF: LX-344 ADAPTABLE LEXUS
Ball Joint

Weight: 0,766

RX330

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MHU3, GSU3,
MCU3

2003-2008 Front Left 4333029615

Length: 89 Bolt Metric: M14X1,5 Housing Metric: M12X1,25

YEAR ONLY
2004-2006

www.teknorot.com 73

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: LX-345 ADAPTABLE LEXUS
Ball Joint

Weight: 0,766

RX330

MODEL NO BODY YEAR DIRECTION OEM NO

MHU3, GSU3,
MCU3

2003-2008 Front Right 4334029215

Length: 89 Bolt Metric: M14X1,5 Housing Metric: M12X1,25

YEAR ONLY
2004-2006

TEKNOROT REF: M-1158 ADAPTABLE MERCEDES
Control Arm and Ball Joint
Assembly

Weight: 2,92

E-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W211 2003-2009
Front Right

Upper
A2113305707, 2113305707

COMPONENTS NUMBER NAME DIRECTION OEM NO

AWD

Length: 213 Bolt Metric: M10X1,5

VO-BS045
Control Arm

Bushing
Front Upper A2113305707*, 2113305707*

www.teknorot.com 74

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: M-1159 ADAPTABLE MERCEDES
Control Arm and Ball Joint
Assembly

Weight: 2,92

E-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W211 2003-2009
Front Left

Upper
A2113305507, 2113305507

COMPONENTS NUMBER NAME DIRECTION OEM NO

AWD

Length: 213 Bolt Metric: M10X1,5

VO-BS045
Control Arm

Bushing
Front Upper A2113305707*, 2113305707*

TEKNOROT REF: MA-1018 ADAPTABLE MAZDA
Lateral Arm

Weight: 1,951

MX-5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III  ( NC ) 2005-2015
Rear Right

Lower
NE5128500B

Length: 529 Bolt Metric: M14X1,5

www.teknorot.com 75

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: MA-1019 ADAPTABLE MAZDA
Lateral Arm

Weight: 1,951

MX-5

MODEL NO BODY YEAR DIRECTION OEM NO

III  ( NC ) 2005-2015
Rear Left

Lower
NE5128550B

Length: 529 Bolt Metric: M14X1,5

TEKNOROT REF: MI-799 ADAPTABLE MITSUBISHI
Lateral Arm

Weight: 0,826

ECLIPSE CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018-
Rear Lower

Forward
4117A053

Length: 247

www.teknorot.com 76

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: MI-799 ADAPTABLE MITSUBISHI
Lateral Arm

Weight: 0,826

OUTLANDER

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2012-2021
Rear Lower

Forward
4117A053

Length: 247

YEAR ONLY
2018-

TEKNOROT REF: N-1048 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,281

SENTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B17 2013-2018
Front Right

Lower
545009AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1005
Suspension

Ball Joint
Front Lower 545009AM1A*, 545019AM1A*

SB 716
Control Arm

Bushing
Front Right

Inner
545001KA0B*

www.teknorot.com 77

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1048 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,281

NV-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

2012-2021
Front Right

Lower
545009AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1005
Suspension

Ball Joint
Front Lower 545009AM1A*, 545019AM1A*

SB 716
Control Arm

Bushing
Front Right

Inner
545001KA0B*

TEKNOROT REF: N-1048 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 3,281

CITY EXPRESS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015-2018
Front Right

Lower
545009AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1005
Suspension

Ball Joint
Front Lower 545009AM1A*, 545019AM1A*

SB 716
Control Arm

Bushing
Front Right

Inner
545001KA0B*

www.teknorot.com 78

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1049 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,281

SENTRA

MODEL NO BODY YEAR DIRECTION OEM NO

B17 2013-2018
Front Left

Lower
545019AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1005
Suspension

Ball Joint
Front Lower 545009AM1A*, 545019AM1A*

SB 716
Control Arm

Bushing
Front Right

Inner
545001KA0B*

TEKNOROT REF: N-1049 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,281

NV-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2012-2021
Front Left

Lower
545019AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1045 Ball Joint Front Lower
CMS301131*, 545003S550*,
545003S525*, CMS301132*

www.teknorot.com 79

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1049 ADAPTABLE CHEVROLET
Control Arm and Ball Joint
Assembly

Weight: 3,281

CITY EXPRESS

MODEL NO BODY YEAR DIRECTION OEM NO

2015-2018
Front Left

Lower
545019AM1A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 344

N-1045 Ball Joint Front Lower
CMS301131*, 545003S550*,
545003S525*, CMS301132*

TEKNOROT REF: N-1188 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 4,285

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2004
Front Right

Lower
CMS301131, 545003S550,

545003S525

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.4L

Length: 366 Bolt Metric: M18X1,5

N-1045 Ball Joint Front Lower
CMS301131*, 545003S550*,
545003S525*, CMS301132*

YEAR ONLY
2000-2004

www.teknorot.com 80

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1188 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 4,285

FRONTIER

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2004
Front Right

Lower
CMS301131, 545003S550,

545003S525

COMPONENTS NUMBER NAME DIRECTION OEM NO

FWD

Length: 366 Bolt Metric: M18X1,5

N-1045 Ball Joint Front Lower
CMS301131*, 545003S550*,
545003S525*, CMS301132*

YEAR ONLY
1999

TEKNOROT REF: N-1189 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 4,285

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2004
Front Left

Lower
CMS301132, 545013S550,

545013S525

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.4L

Length: 366 Bolt Metric: M18X1,5

N-1035 Ball Joint Front Lower
RK620557, RK620556,

545002S685, 545012S685

YEAR ONLY
2000-2004

www.teknorot.com 81

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1189 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 4,285

FRONTIER

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2004
Front Left

Lower
CMS301132, 545013S550,

545013S525

COMPONENTS NUMBER NAME DIRECTION OEM NO

FWD

Length: 366 Bolt Metric: M18X1,5

N-1035 Ball Joint Front Lower
RK620557, RK620556,

545002S685, 545012S685

YEAR ONLY
1999

TEKNOROT REF: N-1208 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 7,638

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2004
Front Right

Lower
RK620557, 545002S685

Moog Type / 2.4L

Length: 327,5 Bolt Metric: M18X1,5

www.teknorot.com 82

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: N-1209 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 7,638

FRONTIER

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2004
Front Left

Lower
RK620556, 545012S685

Moog Type / 2.4L

Length: 327,5 Bolt Metric: M18X1,5

TEKNOROT REF: O-1048 ADAPTABLE OPEL
Control Arm and Ball Joint
Assembly

Weight: 2,5

CORSA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

F 2019- Front Right 9832039280

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5

O-1014 Ball Joint Front 9832039280*, 9831626480*

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

www.teknorot.com 83

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: O-1048 ADAPTABLE PEUGEOT
Control Arm and Ball Joint
Assembly

Weight: 2,5

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Right 9832039280

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5

O-1014 Ball Joint Front 9832039280*, 9831626480*

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

TEKNOROT REF: O-1048S ADAPTABLE OPEL
Control Arm

Weight: 1,98

CORSA

MODEL NO BODY YEAR DIRECTION OEM NO

F 2019- Front Right 9832039280*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 303,3

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

www.teknorot.com 84

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: O-1048S ADAPTABLE PEUGEOT
Control Arm

Weight: 1,98

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Right 9832039280*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 303,3

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

TEKNOROT REF: O-1049 ADAPTABLE OPEL
Control Arm and Ball Joint
Assembly

Weight: 2,5

CORSA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

F 2019- Front Left 9831626480

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5

O-1014 Ball Joint Front 9832039280*, 9831626480*

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

www.teknorot.com 85

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: O-1049 ADAPTABLE PEUGEOT
Control Arm and Ball Joint
Assembly

Weight: 2,5

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Left 9831626480

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5

O-1014 Ball Joint Front 9832039280*, 9831626480*

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

TEKNOROT REF: O-1049S ADAPTABLE OPEL
Control Arm

Weight: 1,98

CORSA

MODEL NO BODY YEAR DIRECTION OEM NO

F 2019- Front Left 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 303,3

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

www.teknorot.com 86

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: O-1049S ADAPTABLE PEUGEOT
Control Arm

Weight: 1,98

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Left 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 303,3

OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

www.teknorot.com 87

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: OP-BS140 ADAPTABLE OPEL
Control Arm Bushing

Weight: 0,271

CORSA

MODEL NO BODY YEAR DIRECTION OEM NO

F 2019- Front Inner 9832039280*, 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 65

O-1048
Control Arm

and Ball Joint
Assembly

Front Right 9832039280

O-1049
Control Arm

and Ball Joint
Assembly

Front Left 9831626480

O-1048S Control Arm Front Right 9832039280*

O-1049S Control Arm Front Left 9831626480*

www.teknorot.com 88

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: OP-BS140 ADAPTABLE PEUGEOT
Control Arm Bushing

Weight: 0,271

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Inner 9832039280*, 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 65

O-1048
Control Arm

and Ball Joint
Assembly

Front Right 9832039280

O-1049
Control Arm

and Ball Joint
Assembly

Front Left 9831626480

O-1048S Control Arm Front Right 9832039280*

O-1049S Control Arm Front Left 9831626480*

www.teknorot.com 89

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: OP-BS141 ADAPTABLE OPEL
Control Arm Bushing

Weight: 0,16

CORSA

MODEL NO BODY YEAR DIRECTION OEM NO

F 2019- Front Outer 9832039280*, 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 56

O-1048
Control Arm

and Ball Joint
Assembly

Front Right 9832039280

O-1049
Control Arm

and Ball Joint
Assembly

Front Left 9831626480

O-1048S Control Arm Front Right 9832039280*

O-1049S Control Arm Front Left 9831626480*

www.teknorot.com 90

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: OP-BS141 ADAPTABLE PEUGEOT
Control Arm Bushing

Weight: 0,16

208

MODEL NO BODY YEAR DIRECTION OEM NO

P21 2019- Front Outer 9832039280*, 9831626480*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 56

O-1048
Control Arm

and Ball Joint
Assembly

Front Right 9832039280

O-1049
Control Arm

and Ball Joint
Assembly

Front Left 9831626480

O-1048S Control Arm Front Right 9832039280*

O-1049S Control Arm Front Left 9831626480*

www.teknorot.com 91

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: P-1021 ADAPTABLE PEUGEOT
Steering Tie Rod End

Weight: 0,493

2008

MODEL NO BODY YEAR DIRECTION OEM NO

P24 2020- Front Right 1673314580

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

TEKNOROT REF: P-1022 ADAPTABLE PEUGEOT
Steering Tie Rod End

Weight: 0,493

2008

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P24 2020- Front Left 1673314480

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.teknorot.com 92

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: R-966 ADAPTABLE RENAULT
Stabilizer Bar Link

Weight: 0,107

CLIO

MODEL NO BODY YEAR DIRECTION OEM NO

II 1998-2012 Front 8200603492, 8200891487

Length: 73,5 Housing Metric: M8X1,25

YEAR ONLY
2008-

TEKNOROT REF: R-966 ADAPTABLE RENAULT
Stabilizer Bar Link

Weight: 0,107

CLIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II-SYMBOL 1998-2012 Front 8200603492, 8200891487

Length: 73,5 Housing Metric: M8X1,25

YEAR ONLY
2008-2012

www.teknorot.com 93

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: R-966 ADAPTABLE RENAULT
Stabilizer Bar Link

Weight: 0,107

TWINGO

MODEL NO BODY YEAR DIRECTION OEM NO

II (CNO) 2007-2014 Front 8200603492, 8200891487

Length: 73,5 Housing Metric: M8X1,25

TEKNOROT REF: SU-708 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 4,09

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GT 2017-
Front Right

Lower
20202FL020

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5 Bolt Metric: M12X1,25

SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

www.teknorot.com 94

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-708S ADAPTABLE SUBARU
Control Arm

Weight: 3,8

XV

MODEL NO BODY YEAR DIRECTION OEM NO

GT 2017-
Front Right

Lower
20202FL020

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

TEKNOROT REF: SU-709 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 4,09

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GT 2017-
Front Left

Lower
20202FL030

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5 Bolt Metric: M12X1,25

SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

www.teknorot.com 95

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-709S ADAPTABLE SUBARU
Control Arm

Weight: 3,8

XV

MODEL NO BODY YEAR DIRECTION OEM NO

GT 2017-
Front Left

Lower
20202FL030

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

TEKNOROT REF: SU-718 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 4,084

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SK 2019-
Front Right

Lower
20202FL040

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5 Bolt Metric: M12X1,25

SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

www.teknorot.com 96

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-718S ADAPTABLE SUBARU
Control Arm

Weight: 3,791

FORESTER

MODEL NO BODY YEAR DIRECTION OEM NO

SK 2019-
Front Right

Lower
20202FL040

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

TEKNOROT REF: SU-719 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 4,084

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SK 2019-
Front Left

Lower
20202FL050

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5 Bolt Metric: M12X1,25

SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

www.teknorot.com 97

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-719S ADAPTABLE SUBARU
Control Arm

Weight: 3,791

FORESTER

MODEL NO BODY YEAR DIRECTION OEM NO

SK 2019-
Front Left

Lower
20202FL050

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 369,5

SU-BS030
Control Arm

Bushing
Front Lower

Outer
20202FL020*, 20202FL030*

SU-BS022
Control Arm

Bushing
Front Lower

Inner
20202FL020*, 20202FL030*

www.teknorot.com 98

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-BS022 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,24

FORESTER

MODEL NO BODY YEAR DIRECTION OEM NO

SK 2019-
Front Lower

Inner
20202FL020*, 20202FL030*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 57

SU-708
Control Arm

and Ball Joint
Assembly

Front Right
Lower

20202FL020

SU-709
Control Arm

and Ball Joint
Assembly

Front Left
Lower

20202FL030

SU-708S Control Arm
Front Right

Lower
20202FL020

SU-709S Control Arm
Front Left

Lower
20202FL030

www.teknorot.com 99

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-BS022 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,24

XV

MODEL NO BODY YEAR DIRECTION OEM NO

GT 2017-
Front Lower

Inner
20202FL020*, 20202FL030*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 57

SU-708
Control Arm

and Ball Joint
Assembly

Front Right
Lower

20202FL020

SU-709
Control Arm

and Ball Joint
Assembly

Front Left
Lower

20202FL030

SU-708S Control Arm
Front Right

Lower
20202FL020

SU-709S Control Arm
Front Left

Lower
20202FL030

www.teknorot.com 100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-BS030 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,291

FORESTER

MODEL NO BODY YEAR DIRECTION OEM NO

SK 2019-
Front Lower

Outer
20202FL020*, 20202FL030*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 61

SU-708
Control Arm

and Ball Joint
Assembly

Front Right
Lower

20202FL020

SU-709
Control Arm

and Ball Joint
Assembly

Front Left
Lower

20202FL030

SU-708S Control Arm
Front Right

Lower
20202FL020

SU-709S Control Arm
Front Left

Lower
20202FL030

www.teknorot.com 101

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SU-BS030 ADAPTABLE SUBARU
Control Arm Bushing

Weight: 0,291

XV

MODEL NO BODY YEAR DIRECTION OEM NO

GT 2017-
Front Lower

Outer
20202FL020*, 20202FL030*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 61

SU-708
Control Arm

and Ball Joint
Assembly

Front Right
Lower

20202FL020

SU-709
Control Arm

and Ball Joint
Assembly

Front Left
Lower

20202FL030

SU-708S Control Arm
Front Right

Lower
20202FL020

SU-709S Control Arm
Front Left

Lower
20202FL030

www.teknorot.com 102

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SZ-616 ADAPTABLE SUZUKI
Stabilizer Bar Link

Weight: 0,441

SWIFT

MODEL NO BODY YEAR DIRECTION OEM NO

V 2017- Front 4242053R01

Length: 350 Bolt Metric: M10X1,25

TEKNOROT REF: SZ-628 ADAPTABLE SUZUKI
Control Arm and Ball Joint
Assembly

Weight: 1,918

WAGON R

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2012-2018
Front Right

Lower
45201M67L00

Length: 271 Bolt Metric: M12X1,25

www.teknorot.com 103

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: SZ-629 ADAPTABLE SUZUKI
Control Arm and Ball Joint
Assembly

Weight: 1,918

WAGON R

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2012-2018
Front Left

Lower
45202M67L00

Length: 271 Bolt Metric: M12X1,25

TEKNOROT REF: T-1091 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,866

CAMRY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV50 2012-2017 Front Right 4546080005

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

www.teknorot.com 104

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: T-1091 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,866

ES300h

MODEL NO BODY YEAR DIRECTION OEM NO

XV60 2012-2018 Front Right 4546080005

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

TEKNOROT REF: T-1091 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,866

ES350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV60 2012-2018 Front Right 4546080005

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

www.teknorot.com 105

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: T-1092 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,866

CAMRY

MODEL NO BODY YEAR DIRECTION OEM NO

XV50 2012-2017 Front Left 4547039345

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

TEKNOROT REF: T-1092 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,866

ES300h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV60 2012-2018 Front Left 4547039345

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

www.teknorot.com 106

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: T-1092 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,866

ES350

MODEL NO BODY YEAR DIRECTION OEM NO

XV60 2012-2018 Front Left 4547039345

Length: 207 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

TEKNOROT REF: TS-108 ADAPTABLE TESLA
Lateral Arm

Weight: 0,369

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2012- Rear Upper 600684000B

COMPONENTS NUMBER NAME DIRECTION OEM NO

RWD

Length: 225

TS-BS010
Lateral Arm

Bushing
Rear Upper 600684000B*

www.teknorot.com 107

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-119 ADAPTABLE TESLA
Lateral Arm

Weight: 0,347

MODEL X

MODEL NO BODY YEAR DIRECTION OEM NO

2015- Rear Upper 102142000B

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 225

TS-BS009
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

TEKNOROT REF: TS-198 ADAPTABLE TESLA
Control Arm and Ball Joint
Assembly

Weight: 2,617

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018-
Front Right

Upper
104432600H, 104432600F,

104432600G

COMPONENTS NUMBER NAME DIRECTION OEM NO

Steel Type

Length: 273

TS-BS011
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

www.teknorot.com 108

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-198K ADAPTABLE TESLA
Control Arm Kit

Weight: 2,745

MODEL Y

MODEL NO BODY YEAR DIRECTION OEM NO

2019-
Front Right

Upper
104432600H, 104432600F,

104432600G

COMPONENTS NUMBER NAME DIRECTION OEM NO

W/ Accessories / Steel
Type

Length: 273

TS-BS011
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

TEKNOROT REF: TS-199 ADAPTABLE TESLA
Control Arm and Ball Joint
Assembly

Weight: 2,617

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018-
Front Left

Upper
104432100H, 104432100F,

104432100G

COMPONENTS NUMBER NAME DIRECTION OEM NO

Steel Type

Length: 273

TS-BS011
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

www.teknorot.com 109

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-199K ADAPTABLE TESLA
Control Arm Kit

Weight: 2,745

MODEL Y

MODEL NO BODY YEAR DIRECTION OEM NO

2019-
Front Left

Upper
104432100H, 104432100F,

104432100G

COMPONENTS NUMBER NAME DIRECTION OEM NO

W/ Accessories / Steel
Type

Length: 273

TS-BS011
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

TEKNOROT REF: TS-238 ADAPTABLE TESLA
Control Arm and Ball Joint
Assembly

Weight: 1,958

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015-
Front Right

Upper
102732700E

Alumunium Type

Length: 358

www.teknorot.com 110

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-238K ADAPTABLE TESLA
Control Arm Kit

Weight: 1,978

MODEL X

MODEL NO BODY YEAR DIRECTION OEM NO

2015-
Front Right

Upper
102732700E

W/ Accessories /
Alumunium Type

Length: 358

TEKNOROT REF: TS-239 ADAPTABLE TESLA
Control Arm and Ball Joint
Assembly

Weight: 1,958

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015-
Front Left

Upper
102732200E

COMPONENTS NUMBER NAME DIRECTION OEM NO

Alumunium Type

Length: 358

TS-BS009
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

www.teknorot.com 111

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-239K ADAPTABLE TESLA
Control Arm Kit

Weight: 1,978

MODEL X

MODEL NO BODY YEAR DIRECTION OEM NO

2015-
Front Left

Upper
102732200E

COMPONENTS NUMBER NAME DIRECTION OEM NO

W/ Accessories /
Alumunium Type

Length: 358

TS-BS009
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

TEKNOROT REF: TS-248 ADAPTABLE TESLA
Lateral Arm

Weight: 0,566

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2015- Rear Upper 102742100E

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 283

TS-BS009
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

www.teknorot.com 112

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2022 January

TEKNOROT REF: TS-248 ADAPTABLE TESLA
Lateral Arm

Weight: 0,566

MODEL S

MODEL NO BODY YEAR DIRECTION OEM NO

2012- Rear Upper 102742100E

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 283

TS-BS009
Control Arm

Bushing
Front Upper

104432600H*, 104432600F*,
104432600G*

YEAR ONLY
2012-2017

www.teknorot.com 113

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


